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2019(0dd)
Sem-1/11
Basic Mathematics

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.

T-AQ ol 20 vyl @ SN 9, AP U BT A [ B |
Answer all Five questions from Group B, each question
carries 4 marks.
qu—B & &t uiq ywil @ S <, UF W BT AH 43AF L |
Answer all Five questions from Group C, each question

carries 6 marks.

Zu-C & ot ufg vl @ sov <€, 999 W &1 9 63 B 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.

'S ye @ ot 3l a1 IR & € e (@R w9 3)
BT AR, AR 9 Sk € W1 ged

The figure in right hand margin indicate marks.
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10.

OR(37era)

Iftan®=n,0+¢ = %

I-n

Prove that tan ¢ = ——
¢ I+n

afe tanﬁzn,9+¢:%

~1-n
Rig ™ tan(b*m

NT12003

Find the equation of straight lines which pass
through the point (3, 2) and are inclined to the line

X - 2y = 3 at an angle of 45’

6

SS9 W YERI &1 4T e o fag

(3. 2) @ ordl @ T WY ¥W@T x-2y=3 ¥

45°BT BIoT 91T 2 |

OR (3reran)

Find the equations of the circles which pass through

the points (2, 3) and (6, -1) and whose radius is 4

units.

fagat (2, 3) @@ (6. —1) ¥ YERA e g0

& GHNHOT S & Roraer Bar 4 a8 2
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(i)
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1 1s equal to

(1) (o)

| |
®) (x+ 1)_ (x+2)

1 1
+
® (x+1) (x+2)

1 1
52 G

(d) None of these

|
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GROUP -C

Answer all Five Questions.

g 9" ol & SN & | 6x5=30

P+ -
7. Resolve e 10x+4 into partial fractions.
x(2x + 1)

4X3+10X+4 ﬁ -ﬁ ﬁ"_"rﬁt‘ﬁél
x(2x +1)

OR (3r21dm)

”

Resolve into partial fractions.

o
(x* - 1)(x'+2)
& ¥ = ¥ @)

P

X
(x* - )(x+2)

8. Solve the following equations with the help of
matrices
3Xx+y+2z=3;2x-3y-z=-3;x+2y+z=4

6

frrefafaa wiieve o s @ wsar €
el BN |
3x+y+2z=3;2x-3y-z=-3;x+2y+z=4
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(iv)

(iv)

(v)

(v)
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The value of %p L8
(a) 360

(b) 365

(c) 370

(d) None of these

6p4 &1 91 &:

(31) 360

) 365

(|) 370

() ¥ ¥ =g

The value of 3C, is equal to
(a) 0
(b) -1

(c) 1
(d) None of these

3C_ T A #:
@) o
@ -1
(@) 1

®) = @ aig T
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4, Prove that

(cosa + cos B)° + (sina + sinf) =4 cos’

g a¥

( cosa + cos B) + (sina + sinP)’ =4 cos’

OR (3re1dn)

NT12003 NT12003
(vii)
a+p
2
4
oa+p
2
(viii)

Iftan” x +tan” y +tan”’ z= % then prove that

yz+zx +xy =1

!lﬁtan'1x+tan"y+tan'lz:%?ﬁﬁl?;ﬁ

yz+zx +xy =1

5. Prove that

a’ sin (B-C) . b’ sin (C-A)

L cosin (A-B) _

simB+sinC sinC+sinA

fg &Y

a’ sin (B-C) . b’ sin (C-A)

sin A+sin B

L Csin (A-B) _

smB+sinC sinC+sinA

sin A+ sin B

https://www.sbtediploma.com
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Tﬁ'ﬂqiﬂ'ﬁ'\'gl

{a1) 75°
(3) 65’
(W) 45°
@) T 4 1¢ =

1 + tan’0

a0
If6 =60 then tan0

is equal to

(d) None of these

1 +tan’0

T
afg 0=60° 79 S tand
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GROUP B (x)  cos 15°-sin 15° &vmEX &:
1
Answer all Five Questions. () V2
- . . 4x5=20
wY o e @ SR & @) 2
2
2. Prove that 1
)
1 +a | | i
I 1+b 1 —abc(1+1_+1_+L) (@) T @ B 9 2
1 I l+c a boc
(xi)  Ifcosec’lx = %then value of x is
4 (a) V2
g Y | 1
(b) 75
1 +a | | NEY
3
1 1+b 1 —abc(H_l_.,_l__,_L) (C) —_—
I I 1+c a b 2
(d) None of these
OR (31214T1) -
(xi)  AfY coseclx = 7 T x BT W 2
X . 3
Apply Cramer’s rule to solve the following equations @) V2
x+y+z=1; x+2y+z=2;x+y+2z=0 1
@
PR @ Frw &1 gahT o Frafeafaa (@) V3
TSN B g B | 2
x+y+z=1; x+2y+z=2;x+y+2z=0 (®) =% 9@ 3Ig = 2
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(xvni1) The equation of the circle whose radius is 4

and the centre is (-5, 6) is
(@)X +y +12x+ 10y +45=0
()X +y - 10x+ 12y +45=0
()X +y +10x+ 12y +45=0
(d) None of these

(xviii) =T ot feuT 4 @ &5 (-5, 6) 2.

(xix)

&1 e 2:

@) X +y+12x+ 10y +45=0
@) +y-10x+12y+45=0
M) +y +10x+ 12y +45=0
@) = @ ¢ T8

e e e
ixi+ jxj + kxk isequalto
(a)0

(b)3

(c) 1

(d) None of these

NT12003

(xiii)

(xiv)

(xiv)
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fagat (a,0) 3R (o,b)® 9 & T &
ORAES
() Vo
@) \b'-a”

(@) T 4 +1d 7

The area of the triangle whose vertices are
(0,0), (2,0), (0,b) 1s
(a) ab

1
(c) %ab
(d) None of these

farge st R (0,0), (3,0), (o,b) 2.
BT S9%d 2 |
(@) ab

(@ b
() %ab
(@) W @ 3Ig =&
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